Multi-Step Problems

Multi-Step Problems

1a. A charity want to raise £%,559.
They raise £4,522 in the first month.
They raise two thousand, six hundred and

twenty-five pounds less in the second
month.

In the third month, they raise £1.540 more
than what they roised in the second
month.

Does the charity reach their goal?
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1b. A warehouse is receiving a bullk
shipment of pet food.

6,014 of the tins are dog food.

They receive 4,434 fewer tins of cat food
than dog food.

They receive 1,020 more tins of fish food
than cat food.

How many tins of pet food do they
receive in total?
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2a. Jack is organising his sticker
collection. He has 9,292 sftickers in total.

Box A has 4,904 stickers. Box C has 1,208
fewer stickers than box A.
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How many stickers are in box B?
Convince me.
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3b. There are 4,498 counters in one bulk
bag.

Box A holds 1,197 counters. Box B holds
586 more counters than box A.
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How many counters are in box C?
Convince me.
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Ja. Write a word problem to go with the
following calculation.

7.886ml-4,392ml+ ml|=4,399ml

Solve your word problem.
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3b. Write a word problem to go with the
following calculation.

£6,4688 + £2 501 - (£ |= £7,626

Solve your word problem.
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